miD AMERICAH

MOTORWORKS.. INSTRUCTION SHEET

Part Number

Application: 2015-2019 Z06 and Grand Sport

Part Includes
1- Mounting Bracket

[ ]
Removeable License Plate (Front) I emoveable Pt frame
- Cross Brace
2-Fender Washers
1- Nylock nut
2- #8 Hex Drive Screws 1 1/2"
2- Plate Mount Screws 1/4" 20x 1/2"

: © Tools Needed

SKILL LEVEL

STEP 1.

Jack up car and place on jack stands in such a manner to gain easy acsess to the bottom
of the front bumper. Refer to owners manuel for correctprocedure.

STEP 2.

With the 7mm socket and short extension remove and save the 7mm bolt at center
back of cooling opening.

STEP 3.

Remove the U-nut from the upper black section of the fascia by prying with the screw-
driver and pulling it with the pliers. Reinstall the u-nut on the slotted portion of the
mount bracket.

STEP &4.

Reaching inside the bumper fascia from the cooling opening find the two 7mm bolts
directly behind the grill and approximately 3" either side of center and remove and set
them aside. (They wil not be reused.)

STEP 5.

Take the mounting bracket and carefully angle it up into the the fascia from the cooling
opening. By angling and rotating the bracket at the indentation where the 7Tmm bolt
was the bracket will go up and inside the cooling area.

STEP 6.

Reaching inside the cooling area with the cross brace, place cross brace on the mount
bracet stud. Place the nylock nut on the stud and tighten with the 3/8" open end
wrench. Place the completed mount bracket in its location centered on the grill.

STEP 7.

Insert the 7mm bolt in the rear center location. Install the 2 fender washers on the
#8 screws. Install the #8 screws through the cross brace in the place of the 7Tmm bolts
in the area behind the grill. Push the bracket all the way foward and tighten all three
SCrews.

STEP 8.

Insert the plate frame into the mount bracket. Check assembly for clearance and align-
ment. Reposition if needed. Lower car off of jack stands, and insert license plate into
frame and install the 1/4" 20 screws in the lower two holes in the plate frame.

i f‘ Mamotorworks
2900 North Third Street, Effingham, IL 62401

D @CorvettePassion © 800.500.1500 - Worldwide: 217.540.4200 + FAX: 217.540.4800
: www.mamotorworks.com * generalmail@mamotorworks.com

MidAmericaMotorworks ©Mid America Motorworks, Inc. All rights reserved.




